IB Math SL Topic 4 




Name: __________________________

HW Day 1 Vectors




Date:______________________

1.
Find the column form and magnitude of
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  given A: (7, 7) and B: (-2, -2).  

                           





Column Form __________ Magnitude __________

For problems #2-3, use 
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2.
Find  
[image: image4.wmf]62

cd

-

rur

 

3.  
Find 
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Find each resultant vector, then state the magnitude and direction angle of each resultant.
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4.  
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5.  
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 magnitude = ______



magnitude = ______




direction angle = ______


direction angle = ______
6.
The vectors u, v are given by u = 3i + 5j, v = i – 2j.


Find scalars a, b such that a(u + v) = 8i + (b – 2)j.

7.
A triangle has its vertices at A(–1, 3), B(3, 6) and C(–4, 4).

(a)
Show that [image: image11.wmf]9
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(b)
Show that, to three significant figures, cos[image: image12.wmf].
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8.
The points A and B have the position vectors [image: image13.wmf]÷
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(a)
(i)
Find the vector [image: image15.wmf]AB

.

(ii)
Find [image: image16.wmf]AB

.


The point D has position vector [image: image17.wmf]÷
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(b)
Find the vector [image: image18.wmf]AD

 in terms of d.


The angle [image: image19.wmf]D
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 is 90°.

(c)
(i)
Show that d = 7.

(ii)   Write down the position vector of the point D.


The quadrilateral ABCD is a rectangle.

(d)
Find the position vector of the point C.

(e)
Find the area of the rectangle ABCD.

9. An airplane is flying at a speed of 300mph on a 120° compass bearing.  There is a 30 mph blowing due east.   Use this information to answer the following questions: NEATLY show ALL your work then put your answers in the table below.
a. Component form of the vector that represents the plane. 
b. Component form of the vector that represents the wind.  
c. The resultant vector, in component form.  
d. The actual speed of the plane.
e. The actual directional angle of the plane.  
f. The actual compass heading (bearing angle).
	9a.  plane

	9b.  wind
	9c.   resultant

	9d.  actual speed of the plane
	9e.  plane directional angle


	9f.  compass heading
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